EARAZROREIERT — 2 N— XBISY —F 2020568258 (A) 6[EIFI5ISH

m/\":/(j—tﬁj‘,u B3 H5%—f& \ (%] \ [EEism]  — | &4 (£) 12000 BBE
[A&4£] 1 7% :550,000  ~ 23#&:110,000  ~ 33#&:83,000H  43#%&:55000M” . 53&:27,000 ™
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
TREAE :15. - . — HEEA (dt7EiE)
1 6| 7xT7V—==Tv7 3 X% 1(1_5)9 “ 104 1 (4+220) &) EES
ZTIA NI N BURSS XD HHEMS
2 i 4 | MRERIRSE 1:16.2 5-6 8.7 — 4 404 | WEER (dbiEE)
2 3 LA A 55.0 (1 1/2) (-6) | BRI
:7UF—v B:TrZaATI—2R R/E77—L
S o > 5 | BFEFE 1:16.3 6-5 38.6| — 5 486 | E4ARERR (AtimE)
32| %7 a0 77 60 (76) o | &) 71
L4 n Basvaurd—7+ EEZ e
— S s i 4 | BEXTT 1:16.3 1-1 409 - 3 408 | MARE (AtiEE)
45|57 1 RAT7 Y= 8.0 (757) (o |HEmZ
LANRZATNG B:FLTFT1TIV Lgitie ]
-3 N i 6 | BEBEZ 1:17.7 4-4 “n.0| — 6 466 | LA (LimE)
5077/ VV~=>3EL v b 55.0 ) o |LHAET -
LTV FFELT BivYw=>T7Ya-l SRS
A+ E K :18. = . = 12 ARER (dtimd
6 4| ¥— by —2 i 5 Bt 1 (13&34 3-3 42.3 2 «zg? gy i
L:xrivd/xtx B:INMX =Eivie
i N 4 6 | BHMHE 1:21.7 7-7 #a.8| — 7 440 | WURERA (dtiEE)
7111117970y b 56.0 (24 4%) ) |BOE= .
:Aa-xI> v 877Uy 74X HET7—L
@ 1 — S —EBIEf
13—7+—
230—7F—
BEE 5,6,4,7,3,2,1
43—F— (5,6),4,7,2,3,1
[ N3
BB 6 110 74K 3-6 260M B & 3-6 550 3JEHE 2-3-6 960M
8 B 6 110 2-6 220M B E 6-3 610M K31 6-3-2 2,230MH
3 250/ 2-3 790M

ARICOVWTRDTEEERROODE. TR LI,



